

HIMACHAL PRADESH
PUBLIC WORKS DEPARTMENT

No:-PW-NCD-E-Tender-NIT/2024-25:-

25/22-30

Dated: 10-7-2024

To

The Executive Engineer (IT Cell),
Nirman Bhawan, Nigam Vihar, Shimla-2

Subject: - Publishing of tender Notice.

Dear Sir,

Enclosed please find herewith the tender Notice of works as given in the Notice Inviting Tender for uploading on Department website as per Notification No. Principal Secretary (PW), to the Govt. of H.P. letter No.PBW(B) A(3)1/2020 dated Shimla-2 the 16th July, 2021 as the works mentioned in the tender notice are urgent in nature and in public interest.

DA: - Notice Inviting Tender.
(02 No. Works)


Executive Engineer
Nerchowk Division
HPPWD Nerchowk

Copy forwarded to for information:-

Copy forwarded to the Superintending Engineer, 1st Circle, HP.PWD., Mandi for information please.

Copy to all the Assistant Engineers, working under this Division.

Copy to Account Branch in this office.

Copy to Drawing Branch in this office.

Notice Board.

Executive Engineer
Nerchowk Division
HPPWD Nerchowk

**HIMACHAL PRADESH
PUBLIC WORKS DEPARTMENT**

"NOTICE INVITING TENDER"

Sealed **Percentage rate** tender's on form "**6&8**" are invited by the Executive Engineer, Nerchowk, H.P.PWD. Nerchowk for the following works from the approved and eligible contractors enlisted in H.P.PWD. so as to reach in this office on or before **22.07.2024 upto 01.30 P.M.** and will be opened on the same day at **3.00 P.M.** in the presence of interesting contractors or their authorized representatives who may like to be present. If it happens to be a holiday on the tender will be open on the next working day. The application for obtaining the tender form will be received up to **11:00 AM on 22.07.2024** and tender form will be issued on the same day **upto 12:30 PM**. The EMD should be attached during the submission of application for obtaining the tender form. The application will not be accepted without Earnest Money & Cost of tender form.

The earnest money in the shape of FDR National Saving Certificate/Time deposit accounts/Saving account in any of the Post Office and Banks of Himachal Pradesh duly pledged in favour of the Executive Engineer must accompany with each tender. The conditional tender's and the tender's received without earnest money will summarily be rejected. The earnest money should be attached with application. The offer of the tender shall be kept open for **90 days**. The Executive Engineer reserves the right to reject the tender's without assigning any reason:-

Sr. No	Name of work	Estimated Cost (Rs.)	Earnest Money (Rs.)	Cost of Tender From (Rs.)	Time limit	Eligible Class of Contractor
1	Restoration of damages in the campus of PHC Building at Leda, Distt. Mandi (HP) (SH: C/o R/wall with toe wall right hand side).	379410	7600	350	Two Months	D & C
2	Restoration of damages in the campus of PHC Building at Leda, Distt. Mandi (HP) (SH: C/o R/wall with toe wall left hand side).	379410	7600	350	Two Months	D & C

It is certified that the above tenders are very "**urgent nature**", so may be uploaded on department website in public interest.

Note:- The Contractors/Firms should possess the following documents (Photo copy to be attached).

1. The Contractor/Firm should be enlisted with the HP.PWD. & Registration/Renewal copy be attached.
2. The tender forms will not be issued to those contractors whose performance is not found satisfactory.
3. The list of similar type of work executed and work done performance certificate issued by the concerned Executive Engineer required to be produced by the contractor along with application.
4. **Only two tenders shall be issued to each contractor.**
5. The contractor will not have more than two works in hand at the time of tender and only up to completion of work satisfactory including adherence to quality parameters further work will be awarded to him. All under taking/affidavit alongwith application that he is not having more than two works in hand in HP.PWD for execution failing which the application for issuing the tender forms shall not be accepted.
6. The contractor/firm shall be issued tenders on the production of valid GST/income tax clearance certificate.
7. As per Govt. Notification No.PBW (B)A(3)1/2020-I dated 07.10.2021, in case the tendered amount of the lowest bidder comes more than 5% in 1st call the negotiation can be conducted with him but the negotiated amount should remain within 5% of the amount put to tender (on market rate) and vide Govt notification No.PBW (B)A(3)1/2020-I dated 10.05.2023 tendered amount below 30% of the estimated cost will be accepted.


Executive Engineer
Nerchowk Division
HPPWD Nerchowk

Schedule of Quantity

Estimated Cost:- Rs. 379410.00

Earnest Money:- Rs. 7600.00

Time:- Two Months

Name of work:- Restoration of damages in the campus of PHC Building at Leda Distt. Mandi (H.P.)

Sub Head:- Construction of Retaining wall with Toe wall Right hand side

Sr. No.	Description of Item	Quantity	Rate with all taxes including GST in Rs. P.		Unit	Amount
			In Figure	In words		
1	Earth work in excavation for structures for all kinds of soil as per drawing and technical specifications clause 305.1 including setting out, construction of shoring and bracing, removal of stumps and other deleterious materials and disposal upto any lead, dressing of sides and bottoms and back filling in trenches with excavated suitable materials complete within all leads, lifts, carriage of material and other incidental complete in all respect as per direction of Engineer-in-Charge.	14.79 Cum	287.00	Rupees two hundred eighty seven and paise nil only	Per cubic metre	4245.00
2	Providing and laying concrete for plain / reinforced concrete in open foundations complete as per drawing and technical specification clauses 802,803,1202 & 1203. Plain cement concrete nominal mix 1:5:10 (one-cement : five sand : ten graded, crushed stone aggregate 40mm (forty millimetre) nominal size) curing complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction of Engineer-in-Charge.	84.78 Cum	4240.00	Rupees four thousand two hundred forty and paise nil only	Per cubic metre	359467.00
3	Back filling behind abutment wing wall and return wall complete as per Drawing and technical specifications clause 1204.3.8 Granular material complete within all leads, lifts carriage of material and other incidentals as per direction of Engineer-in-Charge.	10.03 Cum	1050.00	Rupees one thousand fifty and paise nil only	Per cubic metre	10532.00
4	Providing weep hole in brick masonry/ stone masonry / plain reinforced concrete abutment , wing wall, return wall with 100mm dia.(one hundred millimetre diametre) PVC pipe extending through the full width of the structures with slope of 1V:20H (one vertical is to twenty horizontal) towards drawing face complete as per drawing and technical specifications clauses 614,709,1204.3.7 including carriage of material and other incidentals as per direction of Engineer-in-Charge.	18.00 Nos.	287.00	Rupees two hundred eighty seven and paise nil only	Each	5166.00
					Total	379410.00

Quoted Percentage in Figures

Quoted Percentage in Words


Executive Engineer
Nerchowal Division
HPPWD Nerchowal

Schedule of Quantity

Estimated Cost:- Rs. 379410.00

Earnest Money:- Rs. 7600.00

Time:- Two Months

Name of work:- Restoration of damages in the campus of PHC Building at Leda Distt. Mandi (H.P.)

Sub Head:- Construction of Retaining wall with Toe wall Left hand side

Sr. No.	Description of Item	Quantity	Rate with all taxes including GST in Rs. P.		Unit	Amount
			In Figure	In words		
1	Earth work in excavation for structures for all kinds of soil as per drawing and technical specifications clause 305.1 including setting out, construction of shoring and bracing, removal of stumps and other deleterious materials and disposal upto any lead, dressing of sides and bottoms and back filling in trenches with excavated suitable materials complete within all leads, lifts, carriage of material and other incidental complete in all respect as per direction of Engineer-in-Charge.	14.79 Cum	287.00	Rupees two hundred eighty seven and paise nil only	Per cubic metre	4245.00
2	Providing and laying concrete for plain / reinforced concrete in open foundations complete as per drawing and technical specification clauses 802,803,1202 & 1203. Plain cement concrete nominal mix 1:5:10 (one cement : five sand : ten graded, crushed stone aggregate 40mm (forty millimetre) nominal size) curing complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction of Engineer-in-Charge.	84.78 Cum	4240.00	Rupees four thousand two hundred forty and paise nil only	Per cubic metre	359467.00
3	Back filling behind abutment wing wall and return wall complete as per Drawing and technical specifications clause 1204.3.8 Granular material complete within all leads, lifts carriage of material and other incidentals as per direction of Engineer-in-Charge.	10.03 Cum	1050.00	Rupees one thousand fifty and paise nil only	Per cubic metre	10532.00
4	Providing weep hole in brick masonry/ stone masonry / plain reinforced concrete abutment , wing wall, return wall with 100mm dia.(one hundred millimetre diametre) PVC pipe extending through the full width of the structures with slope of 1V:20H (one vertical isto twenty horizontal) towards drawing face complete as per drawing and technical specifications clauses 614,709,1204.3.7 including carriage of material and other incidentals as per direction of Engineer-in-Charge.	18.00 Nos.	287.00	Rupees two hundred eighty seven and paise nil only	Each	5166.00
					Total	379410.00

Quoted Percentage in Figures

Quoted Percentage in Words


Executive Engineer
Northumbrian Division
HPPB&D Ranchowal